

KANSAS CORPORATION COMMISSION RIGINAL OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

8	
Operator: License # 33476	API No. 15 - 171-20706-00-00
Name: FIML Natural Resources, LLC	County: Scott
Address: 410 17th Street Ste. 900	
City/State/Zip: Denver, CO. 80202	1980 feet from S (N)(circle one) Line of Section
Purchaser: NCRA	660 feet from (E)/ W (circle one) Line of Section
Operator Contact Person: Cassandra Parks	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 893-5090	(circle one) (NE) SE NW SW
Contractor: Name: Murfin Drilling Company	Lease Name: Kimball Well #: 8-31-1831
License: 30606 KCC	Field Name: Unknown
Wellsite Geologist:	Ft Scott Mississippi
Designate Type of Completion:	Elevation: Ground: 2981' Kelly Bushing: 2993'
New Well Re-Entry Workover	Total Depth: 4798' Plug Back Total Depth: 4747'
Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented at 9 jts @ 395 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set DV tool @ 3006 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 3006'
Operator:	530
Well Name:	Feet depth to Surface w/ 350 sx cmt. Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	- management i tan
Deepening Re-perf Conv. to Enhr./SWD	(Bala must be conscied from the Heserve Fit)
Plug Back — Plug Back Total Depth	Chloride content 10,400 ppm Fluid volume 650 bbls
Commingled Docket No	Dewatering method used Evaporation/backfill
•	Location of fluid disposal if hauled offsite:
•	Operator Name:
Other (SWD or Enhr.?) Docket No.	Lease Name: License No.:
10/19/2008 11/26/2008 11/26/2008	QuarterSecTwpS. RSest West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
	Docker No.
Kansas 67202, within 120 days of the spud date, recompletion, wor Information of side two of this form will be held confidential for a period	with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, rkover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If of 12 months if requested in writing and submitted with the form (see rule 82-3-logs and geologist well report shall be attached with this form. ALL CEMENTING wells. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to reherein are complete and correct to the best of my knowledge.	egulate the oil and gas industry have been fully complied with and the statements
Signature: Com/ Com/	KCC Office Use ONLY
Title: Regulatory Specialist Date: 01/30/2009	Letter of Confidentiality Received
Subscribed and sworn to before me this 30 day of Sanuan	If Denied, Yes Date:
2009	Wireline Log Received
5/01/01/01/01/01	Geologist Report ReceiverANSAS CORPORATION COMM
Notary Public: Whiteh	UIC Distribution
Date Commission Expires: 5/5/2009	FEB 1 2 2009

·)

Operator Name: FIML Natural Resources, LLC		Lease	Lease Name: Kimball		Well #: 8-31-1831			
Sec. 31 Twp. 1			County	:_Scott				
tested, time tool oper temperature, fluid red	n and closed, flowing covery, and flow rates	and base of formations and shut-in pressures if gas to surface test, inal geological well site	s, whether sh along with fi	ut-in pre	ssure reached s	tatic level, hydro	static pressur	res, bottom hole
Drill Stem Tests Take		✓ Yes No		√ L	og Formatio	n (Top), Depth a	ind Datum	[] Sample
Samples Sent to Geo		Yes No		Nam	е		Тор	Datum
Cores Taken Electric Log Run	,	☐ Yes ☑ No ☑ Yes ☐ No		Торе	ka		3680'	-687
(Submit Copy)		v les [100		Heeb			3916'	-923
List All E. Logs Run:	, , , , , , , , , , , , , , , , , , , ,			Lansi	•		3959' 4326'	-966 -1333
T: 1 0 1					as City		4350'	-1357
Triple Combo				Marn Missi	ssippi		4580'	-1587
	·	CASIN	G RECORD	✓ Ne		on, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig	ght / Ft	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	23.0#		395'	"A" common	255	2% gel & 3% CaCl2
Production	7-7/8"	5-1/2"	15.5#		4769'	ASC	340	2% gel, 10% salt, 0.5 pps flo
		L			3006' DV tool	Lite	530	0.25 pps flo & 5 pps gil
		ADDITION	AL CEMENTII	VG / SQL	JEEZE RECORD			· · · · · · · · · · · · · · · · · · ·
Purpose: Perforate	Depth Top Bottom	Type of Cement	of Cement #Sacks Used			Type and F	Percent Additive	s _
Protect Casing Plug Back TD Plug Off Zone	Mouse and rat hole	Lite	25					
Shots Per Foot		ON RECORD - Bridge P Footage of Each Interval F				ture, Shot, Cemen		ord Depth
2	4642-4646'			Acidize with 500 gal MCA acid				
2	4485-4487'				Acidize with 75) gal 15% MCA a	cid & 1500 gal	NE acid
TUBING RECORD	Size	Set At	Packer A	st .	Liner Run			
	3/8"	4732'	lathar!		<u> </u>	Yes 📝 No		
12/08/2008	d Production, SWD or E	Enhr. Producing M	[Flowin	g 🗸 Pumpir	g Gas Li	ft 🗌 Oth	ner (Explain)
Estimated Production Per 24 Hours	Oit 29	Bbls. Gas	Mcf	Wate 74	er Bi	ols. (Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	COMPLETION	I		Production Inter	val		
Vented Sold	Used on Lease ubmit ACO-18.)	☐ Open Hol		. [Dually Comp.	Commingled _		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566 OCT 2.7 2008

INVOICE

Invoice Number 116635

Invoice Date: Oct 19, 2008

Page:

1

FIML Natural Resources LLC

410 l7th St., #900 Denver, CO 80202

FEB 1 0 2009 CONFIDENTIAL

Customer ID	Well Name/# or Customer P.O.	Paymen	t Terms
FIML	Kimball #8-31-1831	Net 30	Days
Job Location	Camp Location.	Service Date	Due Date
KS1	Oakley	Oct 19, 2008	11/18/08

Quantity	i kiltem	Description	Unit Price	Amount
255.00	MAT	Class A Common	15.45	3,939.75
5.00	MAT	Gel	20.80	104.00
9.00	MAT	Chloride	58.20	523.80
269.00	SER	Handling	2.40	645.60
60.00	SER	Mileage 269 sx @.10 per sk per mi	26.90	1,614.00
1.00	SER	Surface Extra Footage KANSAS CORPUSED COMM	ISSION 1,018.00	1,018.00
94.00	SER	Extra Footage KANSAS CORPUGATION	0.85	79.90
60.00	SER	Mileage Pump Truck Manifold & Hood Bontol	7.00	420.00
1.00	SER	Manifold & Head Rental	113.00	113.00
1.00	EQP	Plug Conservation Divis	68.00	68.00
1.00	EQP	Guide Shoe	282.00	282.00
1.00	EQP	AFU Insert	377.00	377.00
3.00	EQP	Centralizers	62.00	186.00
		Centralizers D 08143 S 10 145 Adam And Insert	<i></i>	
ALL PRICES AF	RE NET, PAYABL	Subtotal		9,371.05

30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Nov 18, 2008 4

Sales Tax 345.27 **Total Invoice Amount** 9,716.32 Payment/Credit Applied TOTAL 9,716.32°

937.10

8779.22

ALLIED CEMENTING CO., LLC. 043941

SERVICE POINT: EMIT TO P.O. BOX 31 **RUSSELL, KANSAS 67665** Outle R CALLED OUT ON LOCATION JOB START JOB FINISH 10:30 pm 3138pm 4:00 COUNTY SCOT STATE LOCATION SCOKCION e-Radpord K5 35-11/2 6. OLD OR NEW (Circle one) MURA ZI OWNER SAME **CONTRACTOR** TYPE OF JOB Surgace **CEMENT HOLE SIZE** T.D. AMOUNT ORDERED 255 com 3 % cc 8518 **CASING SIZE DEPTH** 290 gel **TUBING SIZE DEPTH** DRILL PIPE **DEPTH** TOOL **DEPTH** PRES. MAX COMMON____ **MINIMUM** MEAS. LINE **SHOE JOINT** POZMIX **CEMENT LEFT IN CSG.** GEL a @ 583<u>0</u> CHLORIDE PERFS. 22,46 BALS **DISPLACEMENT** ASC @ **EQUIPMENT** @ סבמביויבם KANSAS CORPURATION COMMISSION FEB 1 0 2009 **PUMP TRUCK** CEMENTER TUZZY 431 HELPER FEB 1 2 2009 **BULK TRUCK** 218 DRIVER walt m. CONSERVATION DIVISION WICHITA, KS **BULK TRUCK** @ DRIVER HANDLING 269 MILEAGE 10x3Kem 1614 **REMARKS:** TOTAL 682 **SERVICE DEPTH OF JOB PUMP TRUCK CHARGE** EXTRA FOOTAGE 94 MILEAGE 60 JUZZY YCVER MANIFOLD - head CHARGE TO: FIML Wast PASOURCES TOTAL (630 STREET ____ STATE ____ **PLUG & FLOAT EQUIPMENT** 1-A FU Insent To Allied Cementing Co., LLC. 3-6-27

and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.

You are hereby requested to rent cementing equipment

PRINTED NAME

SALES TAX (If Any) ___ TOTAL CHARGES _____ _____ IF PAID IN 30 DAYS DISCOUNT _

@ 62

TOTAL



24 S. Lincoln Street P.O. Box 31

Russell KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

BIII To:

FIML Natural Resources LLC

410 l7th St., #900 Denver, CO 80202



INVOICE

Invoice Number: 116779

Invoice Date: Oct 28, 2008

Page:

1

Customer ID	Well Name# or Customer P.O.	Payment Terms
FIML	Kimball #8-31-1831	Net 30 Days
ப்பட்ட Job Location	Camp Location	Service Date Due Date
KS1	Oakley	Oct 28, 2008 11/27/08

Quantity		Description	Unit Přiče	Amount
ł.	MAT	Gel	20.80	124.80
340.00	I	ASC Class A	18.60	6,324.00
34.00	MAT	Salt	23.95	814.30
1,700.00		Gilsonite	0.89	1,513.00
500.00	l .	WFR-2	1.27	635.00
452.00	SER	Handling	2.40	1,084.80
60.00		Mileage 452 sx @.10 per sk per mi	45.20	2,712.00
1.00	SER	Production String - Bottom Stage	2,185.00	2,185.00
60.00	SER	Mileage Pump Truck	7.00	420.00
1.00	SER	Manifold Head Rental	113.00	113.00
1.00	EQP	Non Fill Float Shoe	529.00	529.00
1.00	EQP	Sure Seal Float Collar	372.00	372.00
1.00	EQP	D V Tool	4,500.00	4,500.00
2.00	EQP	Baslet	186.00	372.00
25.00		Centralizers KCC	57.00	1,425.00
1.00	EQP	FEB 1 0 2009	29.00	29.00
		CONFIDENTIAL		
	·			

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE



Subtotal	23,152.90
Sales Tax	1,048.20
Total Invoice Amount	24,201.10
Payment/Credit Applied	
TOTAL	24.201.10

ALLIED CEMENTING CO., LLC. 32101

REMIT TO P.O. RUS	. BOX 31 SSELL, KAI	NSAS 6766	55		SERV	VICE POINT: Dakley	Ks
10/28/08 DATE 18/08	SEC ₃ (TWP.	RANGE 3 /	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Kimball LEASE	8-31 - 1 WELL#	1681	LOCATION Sun!	4 City East 7	D Roeds Ld	COUNTY Sup (1)	STATE
OLD OR MEW	Circle one)		35. LE 1	1 into		KCC	
CONTRACTOR	Mus F	71 21	ч	OWNER 5	200.	EB 1 0 2009	}
TYPE OF JOB	froduct	m	Bottom STA	ye"	C	ONFIDENT	TIAL
HOLE SIZE 77	18 5/12 ~ 15/	T.D. 1)_{h DEP	тн 47 08	CEMENT AMOUNT O	RDERED 24/7	K. Acc	(NO) S. O.
TUBING SIZE		DEF	TH	5 Gilse	RDERED 340 9	rel	1º Kaca
DRILL PIPE TOOL	U - 300	DEP DEP		50000	ewer II	· · · · · · · · · · · · · · · · · · ·	·
PRES. MAX		MIN	IIMUM	COMMON_	-	_ @	
MEAS. LINE CEMENT LEFT	IN CSG	SHC	DE JOINT 🚜	POZMIX _	•	_@ 	121180
PERFS.	IN CSG.		. 6-3/	GEL CHLORIDE		_@ 25! ^	12400
DISPLACEMEN		H20, 6	1811) Mul	ASC	340 sk1	@ 18 ED	632400
	EQU	UPMENT	113"1- Tota	Sult -	2U ://	-@ 35 5	DH 30
PUMP TRUCK	CEMENT	ER Alan	,		7-1-710-7	@	0/1 -
# 422	HELPER	Want		_ Gilsonit		_@ <u>.89</u>	1513
BULK TRUCK	DDIVED		7 🕋	sen 500 gall	WFR II	-@ }27	63500
BULK TRUCK	DRIVER	PANIC	Juergen 5	ien 3		@	
#	DRIVER		4 b;	— HANDLING	4525165	-@ 	1004 80
				MILEAGE		_	2>12-00
MY	REN	MARKS:	M > 1118	1,,,,	1	TOTAL	13207 2
450 100050	90 W	OGOD E	#61/500 172	<u> </u>	SERVI	CF	
OM Was	h Truck	la Line	o Dipla	<u> </u>			····
Phing no	45 886	20 16 1	6811 1913 C	DEPTH OF J	OB	4748	5 40 FW
Pressure,	Float	Held	Proper	TRA FOO	CK CHARGE TAGE	@•	2185
Tool open	0V C8	-1 1/	ralate 4hrs	MILEAGE_		@_7	42000
		/ hark	Han Wan ne Da	MANIFOLD	Hear	_ @ _	113
	-	M .	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
CHARGE TO:		1111	1				
STREET						TOTAL	2)18
CITY	STA	ATE	ZIP		D. 110 0		
			the K	and a sile	PLUG & FLOAT	'EQUIPMEN	VT
			Weather R	Shur Seal	lost Shoe - 1 Flost Collar	@	37792
			51/2	D.V. To	01 -1	@	450000
To Allied Ceme				Basket	115 > 25	@ 186 P	1272
You are hereby and furnish cem				LIMIT	Clamp -1	_@_ 	2900
contractor to do				as			
done to satisfact						TOTAL	7225
contractor. I have TERMS AND C					(If Any)		
LLIUIU AUD C			on the reverse SI	de.	RGES		
PRINTED NAME	=Gar	, Dde					·
	110	/ () 1		DISCOUNT_	3.3	IF PAL	U 30 DAYS
SIGNATURE	11/6/2						



INVOICE

Invoice Number: 116780

Invoice Date: Oct 29, 2008

Page: 1

24 S. Lincôln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

BIIITO

FIML Natural Resources LLC

410 l7th St., #900 Denver, CO 80202

Customer ID	Well Name/# or Customer P.O.	Paymen	t Terms
FIML	Kimball #8-31-1831	Net 30	Days
Job Location	Camp: Location	Service Date	Due Date
KS1	Oakley	Oct 29, 2008	11/28/08

Quantity		Description	Unit Price	Amount
555.00		Lightweight Class A	14.05	7,797.75
2,775.00	1	Gilsonite	0.89	2,469.75
140.00		Fio Seal	2.50	350.00
617.00	SER	Handling	2.40	1,480.80
60.00	SER	Mileage 617 sx @.10 per sk per mi	61.70	3,702.00
1.00	SER	Production String - Top Stage	1,185.00	1,185.00
			FEB 1 0 CONFIL	CC 2009 DENTIAL
ALL PRICES AF	RE NET, PAYABL	E Subtotal		16.985.30

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Nov 28,92008

Subtotal	16,985.30
Sales Tax	668.90
Total Invoice Amount	17,654.20
Payment/Credit Applied	
TOTAL	7,654.20

D 08/43 8200-118 Br. "

Adm. 212 5401°

ALLIED CEMENTING CO., LLC. 32102

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665						SER	VICE POINT:	en Ks
	,							71
DATE W/29/02	SEC.	TWP 18	RANGE	CA	LLED OUT	ON LOCATION	JOB START	JOB FINISH 10103 BV
LEASE LEASE	WELL &	31-1831	LOCATION SC	atto	X EDI	Red Rel	COUNTY	STATE
OLD OR NEW (Cire) C 1 E	- N	Z.X.	0-00		
OLD OIL INC.	cic one)		15712	- 10_	174			
	MuriF	in 2			OWNER -	ane		
TYPE OF JOB Veg	de of 18	<u> </u>	TOP STAGE	e''_	CEMENT			-4.0
HOLE SIZE CASING SIZE 5/2	-15/1	T.D	PTH 3005		CEMENT	RDERED 55	54, 110	6 Salvan
TUBING SIZE	15.0		PTH		74 /	70 Seel	<i>//// 5//</i>	C 7 4/1/0-
DRILL PIPE			PTH			•		
TOOL		DEI	PTH			KC	3	
PRES. MAX			NIMUM		COMMON_		<i>₩₩</i> ———	
MEAS. LINE CEMENT LEFT IN	CSC	SHO	DE JOINT		POZMIX _ GEL	CONLID.	- 18 1 Al-	
PERFS.	CSG.		_		CHLORIDE	CONFID	@	
DISPLACEMENT		21/2	BRL	-	ASC			<u> </u>
	EOU	IPMENT				55 SKS	@ <u>/4</u> 23	7797
		^ .			73	2 22 2 7	_ @	- 244075
PUMP TRUCK C	CEMENT	ER Hla	IN		Silsonia	be 2775/b	_@ <u>*89</u>	2469 —
# 422 F	HELPER	War	7.NL		FloSeel	140 %	$-\frac{\omega}{2}$	350-00
BULK TRUCK		0	7		LWIECK	- V V NO	_ @ 	
# /	DRIVER	Blur	~				@	
BULKTRUCK # 377 E	DRIVER	Ana	00 - 1:h	secol			- [@] - 40 -	111000 80
359	<u> </u>	Dis	A		HANDLING		_@ <u>_</u> Z	7700
214	DE	Dawii MARKS:	d - G.B.		MILEAGE	rësk/mile_		102
MY 155Ks	^ .		SKIMous	_ 4			TOTA	L 13800
Hale Mix 5	30514	Down	5/2	·		SERV	ICE	
Displace P	lug T	DUT	001 W	72/12				
BOL	7001	Held.	Phy Confed (<u> </u>	6 DEPTH OF J	IOB	3005	
VV 1600 16 L	FIL	Coman	4 Gil Cil	respecti	PUMP TRUC	CK CHARGE		11855
	フ	tan 11	Vn			OTAGE		n eli
		76-14-						- 10/2
							@	
							@	
CHARGE TO:	L.M.	.L,						1.0-42
STREET			•				TOTA	L 1185=
CITY								
CIT I	51	AIE	ZIP			PLUG & FLOA	T EQUIPME	NT
•							@	
							@	
To Allied Cementi								
You are hereby red							@ @	
and furnish cemen								
contractor to do w							ТОТА	L
done to satisfactio contractor. I have			_				IOIA	
TERMS AND CO					SALES TAX	(If Any)		
I DIGNO / HVD CO	. 101110	nsice	. On the reverse	, side.		ARGES		
PRINTED NAME_	Gan	(1) L						
PRINTED NAME_	7,000) * \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	<u> </u>		DISCOUNT		IF PA	ID IN 30 DAYS
/^	i L .	لما لم	5					